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import matplotlib.pyplot as plt
import numpy as np
import pandas as pd

%matplotlib inline

import seaborn as sns

x = np. linspace(0,14,100)
yl = np.sin(x)

y2 = 2xnp.sin(x+0.5)

y3 = 4xnp.sin(x+1.0)

plt.figure(figsize=(10,6)) # &9 =J|
plt.plot(x, y1)

[<matplotlib.lines.Line2D at 0x278c5e5de20>]
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plt.plot(x, y1, x,y2, x, y3) # 3JH2 sin =

[<matplotlib.lines.Line2D0 at 0x278c6004550>,
<matplotlib.lines.Line2D at 0x278c6004610>,
<matplotlib.lines.Line2D at 0x278c60046d0>]
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sns.set_style("whitegrid")

plt.plot(x, y1, x,y2, x, y3) # 3JH2 sin =

[<matplotlib.lines.Line2D at 0x278c5ee1d60>,
<matplotlib.lines.Line2D at 0x278chee1e20>,
<matplotlib.lines.Line2D at 0x278c5eetee0>]

tip CIO|EH 2 HIO|H 2 HE L QIAO|E & 7|

sns.set_style("whitegrid")

i

tips = sns.load_dataset("tips") # CIEYI0l HXM U0 OF

tips
total_bill tip sex smoker day time size
0 16.99 1.01 Female No Sun Dinner 2
1 10.34 1.66 Male No Sun Dinner 3
2 21.01 3.50 Male No Sun Dinner 3
3 23.68 3.31 Male No Sun Dinner 2
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total_bill  tip sex smoker day time size

4 2459 3.61 Female No Sun Dinner 4
239 29.03 5.92 Male No  Sat Dinner 3
240 27.18 2.00 Female Yes  Sat Dinner 2
241 22.67 2.00 Male Yes  Sat Dinner 2
242 17.82 1.75 Male No  Sat Dinner 2
243 18.78 3.00 Female No Thur Dinner 2

244 rows x 7 columns

tips.head() ## 2 CIOIE X2 H4HED

total_bill tip sex smoker day time size
0 16.99 1.01 Female No Sun Dinner 2
1 10.34 1.66 Male No Sun Dinner 3
2 21.01 3.50 Male No Sun Dinner 3
3 23.68 3.31 Male No Sun Dinner 2
4 2459 3.61 Female No Sun Dinner 4
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plt.figure(figsize=(8,6))
sns.boxplot(x="day", y="total_bill", data=tips)
plt.show()
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plt.figure(figsize=(8,6)) # AIO|=
# BI2t2 WAL,

plt.show()
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[24] plt.figure(figsize=(8,6))
sns.boxplot(x="day", y="total_bill", hue="smoker", data=tips, palette="Set3")
plt.show()
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sns.set_style("darkgrid")
sns. Implot(x="total_bill", y="tip", data=tips, size=7)
plt.show()

C:WUsersttotoffanaconda3tif| ibfsite—-packagesitseabornitregression.py:580: UserWarning: The
‘size’ parameter has been renamed to ‘height': please update your code.
warnings.warn(msg, UserWarning)

10 i

0 by 0 40 50
iotal_bill

2 g 2 el oF Ij= AtE27?

[26] sns. Implot(x="total_bill", y="tip", hue="smoker", data=tips, palette="Set1", size=7)
plt.show()

C:WUsersttotoffanaconda3ti| ibfsite—-packagesitseabornitregression.py:580: UserWarning: The
‘size’ parameter has been renamed to ‘height': please update your code.
warnings.warn(msg, UserWarning)
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10

fg = sns. load_dataset("flights")

month passengers

fg.head(5)
fg
year
0 1949 Jan
1 1949 Feb
2 1949 Mar
3 1949 Apr
4 1949 May
139 1960 Aug
140 1960 Sep
141 1960 Oct
142 1960 Nov
143 1960 Dec
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144 rows x 3 columns

type(fg)

pandas.core.frame.DataFrame

01_02_Seaborn_Basic

fgp = fg.pivot("month", "year", "passengers")
fap
year 1949 1950 1951 1952 1953 1954 1955
month
Jan 112 115 145 171 196 204 242
Feb 118 126 150 180 196 188 233
Mar 132 141 178 193 236 235 267
Apr 129 135 163 181 235 227 269
May 121 125 172 183 229 234 270
Jun 135 149 178 218 243 264 315
Jul 148 170 199 230 264 302 364
Aug 148 170 199 242 272 293 347
Sep 136 158 184 209 237 259 312
Oct 119 133 162 191 211 229 274
Nov 104 114 146 172 180 203 237
Dec 118 140 166 194 201 229 278

plt.figure(figsize=(10,8))

sns. heatmap(fgp, annot=True,

plt.show()
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01_02_Seaborn_Basic

1954 1983

iris H|O|EH{ & & T{ &7

sns.set(style="ticks")

iris
iris
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149

= sns. load_dataset("iris")
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150 rows x 5 columns
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sns.pairplot(iris)

Out[32]: <seaborn.axisgrid.PairGrid at 0x278c6329310>
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IS s pairplot(iris, hue="species")

plt.show()
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http://seaborn.pydata.org/generated/seaborn.heatmap.html

Reference

In
file:///C:/Users/totofriend/Documents/GitHub/CLASS _PYTHON_START/06_Seaborn_Basic.html



